March 25, 2019

Let's review factoring quadratics..
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March 25, 2019, Monday

Which of these is NOT a function? 2 Ver 'h—CQD L; nq_ Tes" '

“
h cquation by taking square roots.
Suare roots,

A (5,3),(6,4)(7,3) (8 4)

n=10,n=-10

Solve cach cquation by completing the sqy
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March 26, 2019, Tuesday

1. What is the y-intercept of the graph of hix) = 2* - 4

sg....

2. What is the range of the graph of f1x) = =3(x - 4)7

)
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Algebra 1~ Day 4

Solving by the Quadratic Formula Notes
‘The solutions of any quadratic equation (ax? + bx + ¢ = 0) can be found by evaluating the quadratic
formul

Pl OF : (b)? = 4(a)(c)
- 2(a)

Examples: Use the quadratic formula to solve for x
L2x’ —10x—5=0

2.9 42=3x

9) 2%~ 54 3a=-10-8a* 4 30 10) o+ 8m=91+2m

12) 12p* - 9p -4

—apespt

13) 26+ 11k 138 =0

14) 6+ Tn—20
A l6-ILs e
B) No solution. B) (6,15
©) 12231, -7.731) ) 19.899, 9599}
D) {18471, -7.471 D) [1.-2.167)
15) 4% =25 16) 637+ Tx-64=4
A - Ay 2833,
B) 25,25 B) [12.458, -5 458)
) (0667.05 ©) {1,198, 2365]
D) {1.25,-1.25) D) 2,65
Algebra 1 Name
TOTD Solving Quadratic Equations (any method)
5 don your way (by factori . . or quadratic
formula). SHOW ALL OF YOUR WORK!!!
14 -81-0 2) 2 ~4k-16=0
33— ab-7=0

4 4 -2v-6=0

March 25, 2019

Algebra 1 ~ U3B Day 4 Name.

Solving by the Quadratic Formula

Solve each equation with the quadratic formula.

1) 40 -9=0
3) 6%+ Th-68=0 45741120
5) -9 6 27 -5

Algebra

Name
TOTD Solving Quadratic Eq

uations (any method)

Solve cach equation your way (by factoring, square root, completing the square, or quadratic
formula). SHOW ALL OF YOUR WORK!!!

D e2p-1a3=0 2 42-9=0

4 0tadv-2720

Item 13

March 27, 2019, Wednesday

Constructed Response.

Maria and leff collect data on the number of cars that pass through an intersection every Monday

a
median instead to describe the typical number of cars that pass through the interssction on
any given Monday morning.

PartA  Whatis the median value of the data? Write your answ

Part®  Explain why the
provided.

in the space provided.

dian should be used instead of the mean. Write your answer in the space

Part A

PartB

EOC released...close

reading...so many details!

Solve by graphing,
G.O. then quiz...
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GSE Algebra | Solving Quadratics Noles
Name: Date:
2 4bxtc=0.A forms &

A isany
graph called a parabola (shaped like a u)
In this unit, we will we will

Solving Quadratics by Graphing
Solve a Quadratic by Graphing

To solve a quadalic by graphing is 1o find where The parabola crosses Ihe x-xis

xwhen y=0.

We call these he solutions, roots, zeros, or x-infercepts.

Example : find the zeros. Find the solufions.
[AREBL I
A /
/ \ 7
ez ran)
"

Neme -

Algebra 1
Soling quadratis by graphing

Solve the following equations by graphing!

LB cxpurie

a a0)=(x-2-4 b(x)=-2Ax—6) +4
:
' 4 ENG
SNz A6 Iz ] 3 ‘i
> »

Vertex: (2, -4) Vertex: (6,4)
Auds of Symmetry: x =2 A of Symmetry. x =6

o A=+ e2 4 dn) =G+
< e
v i 4
21 o
EY T W B
A -4
P -6
Vertex: (4.2) Vertex: (-2 0)
Aisof Symmetry: x =4 s o Symmetry: x =—2

March 25, 2019

Algebr
Solving qu:

 graphing

D cxaure: Use e raphs beow o sche e gven st eqatons,

5 0moralred b #6920

b Shce e graph of y =

— MOST —s RATIC

QUADRATIC

EQUATION

A) %36 Y =40

T

x*+5x +6=0

AETING
ff‘%MsaquE

egx+ll=0

SOLVING A

S~ | SQUARE

- MOST
by ptac

74

B

:\\,\M’:( x%5x+6=0
(x+3Ax+2)=0
x+3=0 %+¥2=0
x=-% x="Z

SOLVING A
we RS QUADRATIC

Frgerll=0 EQUATION

xZegx =1l
xZrgy t1e =1+l

i
P\\\;Nﬂ\ég

TAKING
S~ | SQUARE

RooTS

i = VS
ok
x =25 No RERL
NER SAUTIONS
ONE REAL
SoLtnon (TW0 COMPLEX)

2 REAL
SOLUTIONS

(rries A) a3 y=40
ocr> V5 x=*G  y=Zivio

quiz...
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March 25, 2019

March 28, 2019, Thursday

SAMPLE ITEMS.

1. What are the zaros ion represented by the ion 2¢° 43 - 32

3

A x=Dandaxe1
z

B x=-Zanax=1
3

C x=tandxe2

3

2. What is the vertex of the graph of f(x) = x* + 10x = 92

3. Which of these is the result of completing the square for the expression x* + 8x - 307

A (447 -30
B (x4 4f 26
. peesfo30

D. (487 -0a

ftem 13
Constructod Response.
Maria and Jeff collect data on the number of cars that pass through an intersection every Monday
m 2 monts. They record the findings as 78, 158, 63, 71. 56, 67. 75, and 64. They cach
use different methods to summarize the ypical number of cars that pass through the intersection at
the specified time and compare their findings. Joff says that. on avorage, 79 cars pass through tha
intersection cach Monday moring. Maria disagreos and says that the moan should not be usad and
uses tho median instead to describe the typical number of cars that pass through the intersaction on
any given Monday moming.
PartA What Is the median valuc of the data? Write your answer in the space provided.
Part®  Explain why the median should ba used instead of the mean. Write your answer in the space
provided.

Part A

Part B
item 13
Constructod Responso.
Maria and Jeff collect data an the number of cars that pass irough an intersection every Monday
moming for 2 months. They record the findings as 78, 158, 63, 71. 56, 67, 75, and 64. They cach
use different methods 1o summatize the typical number of cars that pass through th intorsoction at
the spacified time and compare their findings. Joff says that. on average, 79 cars pass through
intersection cach Monday moring. Maria disagreos and says that the moan should not be usad and
uses tho median instead to describe the typical number of cars that pass through the intersection on
any given Monday moming.
Part A What Is the median value of the data? Write your answer in the space provided.
Part B Explain why the modian should b used instead of the moan. Write your answer in the space

provided.
Part A
Part8
B ax 120 1433 +6=5x

Then el
16.
15.Solve the equation by completing the square.
B 1220
< 8= 12
X Bxr16 =12 7
(x-ap=28
x4 = VI 1

227

18, What are the solutions of (x + 5)(x~ 2) = 07 | 19. What are the solutions of (2x - ) 3x + 7)

B)x=2andx=7

Bx=2and

Qx=-4and

@ x=2and.

Agebral Unit 3B Test Review Name
Remember to show work!
1@ 1be-15=0 2 3@ +2x-

3 54 Ax-12=0

5 x+3x-10 6 5xi+10x+5-0

a)x=2andx
b)x=2andx=5
0

5 % =5 00 Gxr5=0

Dx=2
12.7%-5x

March 29, 2019, Friday

2 4 705 - 600 it s profit for selli For which

number(z) of itams sol is the company’s profit equal to §07

A Oitems
B. 35 ltems

€. 10 items and 60 items
D. 20 items and 30 items

..test
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Unit 38 SPIRAL REVIEW Name:

Date:

1. What are the solutions o he equation i
A x=dx

33595300

3. Whatis the solution to the linear system?
—x+7
2xt2y=6
A(29 B. (2,5) c @9 D. Nosolution
4. 1) Determine the range of the funccion,

2

Ay
B x22

€. Nosolution

D. Al eal numbers

b. . The graph

6. Abird chirps 10 times a minute. bird
144 times per day
1,440 times per day
14,400 times per day
144,000 times per day

7. Aculfure of If there are 500 b

will there be after 9 hours?
B. 9,000 ¢ 4500 D.40,500

/3p-22
D.x=

5. Whatis the asymprote of the function: (¥

/3

B.x=0 cy=

9. Whatis the yintercept of the function whose equation is y = 2(3)7
1 B3 c6 D.2

10, Write the Quadratic Formula

Solutians

re and tell me how do | know i it willsolve for 1 solution, 2 solutions or o

March 25, 2019
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